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1 7+7+74+74+7= g (7P =(7N"m=?

10. Observe the number sequence: 0,1, 1, 2, 3,5, 8, 13, __,
34, 55. Please fill in the blank with the correct number.

2. —3x3=

11. Betty walked into a steakhouse. The main courses
include steak, pork chop, and chicken chop. The soup options
3 3y 3x3x3x3 are corn chowder, French onion soup, and seafood soup. The
fruit options are watermelon, pineapple, and tomato. If Betty
selects one main course, one soup, and one fruit, how many
possible combinations are there?

12. Andy bought four bottles of black tea for 100 NT dollars at

a convenience store. During the sales promotion, all products

4. (—2)x(—2)x(—2) = | ) N !
are discounted by 20%, followed by an additional 10%

discount. How much does Andy actually need to pay?

13. A bottle of drink costs 2 NT dollars. Two bottle caps can be
exchanged for one new bottle of drink, and four empty bottles
5., 2x4x8x16=4"m =7 without caps can also be exchanged for one new bottle of
drink. If you have 20 NT dollars, how many bottles of drink can
you get in total?

14. A bottle of Yakult costs 8 NT dollars. For every 2 bottles

6. 3x3+3+3+3+3+3+3="7 |purchased, you get 1 free. How much will it cost to buy 30
bottles?

15. Andy and Betty are competing in a tennis match. Each
24y 26 — 48 g =7 game has a winner and a loser. The player who wins two or
. ' three consecutive games wins the match. How many possible
match outcomes are there? (Hint: Use a tree diagram.)

16. According to the figure on the right,
each grid has a side length of 1 unit.
How many squares of all possible sizes

are there in the entire figure?

8. Among the natural numbers

from 1 to 100, how many multiples

of 7 are there?
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INSTRUCTIONS:

e AFTER SUCCESSFULLY SOLVING ALL THE QUESTIONS, FOLLOW
THE ORDER OF THE QUESTION NUMBERS TO MATCH THE CODES
BELOW AND DETERMINE THE FINAL PASSWORD TO COMPLETE
THE CHALLENGE.

e WRITE DOWN YOUR PROBLEM-SOLVING PROCESS OR
EXPLANATIONS ON THE ANSWER SHEET AND SUBMIT IT TO THE

SUBMISSION BOX BY WEDNESDAY, JANUARY 15TH.
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